Notes 4 Rationalizing the Denominator.notebook September 18, 2018

Rationalizing the Denominator
Recall: (a+b)(a-b) = a* - b?

Expand: Y4 NC¢55M"5
a) (V5 + 2)(V5 - 2) = '-’)(a\(q*l(e) N

- |

b) (243 + 1)(243 - 1) =(’Qﬁ\l-
= 4 (")
= |\ (

Note: (a-b) and (a+b) are conjugates. The product of two
conjugates always gives a Rational number (no radical).
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Rationalize the denominator of the following:

1) A Here we want to find an equivalent expression without
\3 a radical in the denominator

Solution: 2 (> _ 23

—

N

Rule: [ a =a-\b = ab
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